Frequency CMIP6 Models
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I SSP1-2.6, s = 5.50 + 6.70 %/K
[CISSP2-4.5, s = 5.98 += 3.51 %/K
EESSP3-7.0, s = 6.52 = 2.64 %/K
I SSP5-8.5, s = 6.73 + 2.38 %/K
[Hist., s = 10.53 = 5.58 %/K
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Il SSP1-2.6, s = 9.59 * 6.92 %/K
[C1SSP2-4.5,5s = 7.42 = 3.83 %/K
[ SSP5-8.5,5 = 7.69 = 1.74 %/K
I SSP3-7.0,5s = 7.70 £ 2.23 %/K
[ Hist.,, s = 7.62 * 5.42 %/K
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Il SSP1-2.6, s =-0.77 = 12.47 %/K
[SSP2-4.5,5s = 4.70 * 6.64 %/K
[ SSP3-7.0, s = 5.11 * 4.74 %/K
I SSP5-8.5, s = 5.23 *+ 4.46 %/K
[Hist., s = 14.27 + 9.94 %/K
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